
All measurements have a degree on error
Number of students at school = 1300 

Max = 

Min = 
Height of a tree = 4m 




Max = 

Min =

Length of timber = 2.6 m 




Max = 

Min =
Write the limits of accuracy for each:

1)  4.8 m = 



2)  12.24 m = 



3)  450 m = 
4)  1.05 kg = 


5)  12 min = 




6)  24000 km = 
7) 




Maximum area =





Minimum area = 
8) 




Maximum area =






Minimum area = 



Numbers can be rounded to decimal places (dp) or significant figures (sf)
Rounding to decimal places:
1)  3.26346 to 2dp

2)  54.6893 to 1dp

3)  236.73224 to 2dp
4)  4.0341 to 1dp

5)  0.09929 to 2dp

6)  29.99825 to 2dp
Significant figures are digits which are not place holders
How many sig fig in.:

1)  290 000 



2)  304 000



3)  0.00045

Watch for digits which should not be present

4)  4.0




5)  1.2600



6)  0.004800
Rounding to significant figures:
1)  2894.24 to 2sf

2)  0.00454826 to 2sf
3)  2947500 to 1 sf

4)  459999 to 3sf


5)  3.4589 x 1012 to 2sf 
6)  3.812 to 3sf





















































































HW  


p70 Ex 16.03





Gamma p30


pg. 31  Ex 2.4





HW  


p69 Ex 16.01





Gamma p27


pg. 28  Ex 2.3





Significant figures and rounding





10.8 cm









































6.4 cm





8 cm





6 cm





Estimating everyday measurements








Limits of accuracy








